e T W

potential over load on channel Z WL ?7'
£ile number = 44 time = B&1 @86 @7 @4 528
potential over load on channel 2

file number 45 time A&l Be 87 14
water delay to @.ARBEEE seconds time

ASSCoHE ERece.
el B 13 49 &1 hat = 24

potential over load on channel 1file number = 85 time = Bé1 86 1353 614
ES%SHEI31 8YER 4833 aF EH&HREI éfile number = 28% time = @41 @& 48 83 344
file number = 329 time = B&1 Bé 5& 23 527

notential over load on channel 1file number = 530 time = 8461 B& Sé dﬂ‘sfc
potential over load on channel =

file number = 354 time = B8&1 64 58 53 52l INv'w '

potential over load on channel 1file number = 355 ¥ime = 041 83 3% @3 521
potential over load on channel 1file number = A35¢ time = 841 BA 57 13 321
potential over load on channel Z

$ile Aumber = 348 time = 841 B? B1 13 517

potential over load on channel 1file number = 3&% time = 841 87 @1 23 316
potential owver load on channel 2

file number = 423 time = 841 @7 16 23 478

potential over load on channel =2

file number = 441 time = B&1 87 13 23 492

channel one pre—filter gain = 8 db shot number 444 time = 841 87 132 53 47!
channel two pre—fllter gain = @

channel 1 post fjlter gain = @ db . .
channel 2 post filter gain = & db

channel one pre—fiiter gain = 2 db shot number 445 time = 8451 87 14 B3 478
chanrel two pre—filter gain =8

channel | post filter gain =8 db

channel 2 post filter gain = 8 db

channel one pre—filter gain = 8 db shot number @ time =

channe! two pre—filter gain = @ o : ————
channel 1 post filter gain = 12 db

channel 2 post fil%er gain = 12 db

start reel 1 time = B&1 @7 1% 43 479

potential over load on channel =2

file number = 1 time = B41 87 19 43 479

potential over load on channel 2 o

file number = 2 time = 841 87 1% 53 478

potential over l10a3d on channel 2

file number = 3 time = B4l B7 280 83 478

notential over load on channel 1file number = 4 time = 841 @7 28 13 473
potential over locad on charnnel 1file number = 5 time = B41 B7 28 23 477
potential over load on channel 1file number = & time = 8&1 87 2@ 23 477
potential over load on channe] 2

file number = 7 time = 841 B7 20 43 477

potential over load on channel 1file number = B time = 84l 87 28 S2 474
potential over load on channel 1file number = % time = @41 87 21 B3 474
potential over locad on channel Z

$ile number = 14 time = 841 87 Z1 532 474

potential over load on channel 2

$ile number = 15 time = B&1 87 22 83 474 .

channe)l ane pre—filter gain = 8 db shot number 15 time = B&l 87 Z2 B3 879
channel two pre—-filter gain = 8

channel 1| post Filter gain = & db

channel 2 post filter gain = 12 db

potential gver load on channel 2

file number = 14 time = 841 87 22 13 474

channel one pre—+filter gain = @ db shot number 18 time = 8561 @7 2z 33 373
channel two pre—filter galn = @ .

channel 1 post filter gain = & db

channel 2 post filter gain = & db 5 = E
potential over load on channel lfile number = 38 time = B&1 A7 25 33 446
potenttal over toad on channel 1file number = 43 +time = B4 A7 24 43 444
channel one pre—filter gain = 8 db shot number 42 time = BE1L B? 24 43 444
channel two pre-filter galn = 8

e e a R ey R YT Ram FEaIm o= @A




e s P T W

o -

z post filter gain = &

db

channel

channel one pré—filter gain = 8 db shot number 44 time = B4l B7 246 33 444
channe) two pre—filter gain = @

channe] 1 post filter gain =8 db

channe] 2 post filter gain =8 db

channel one pre—filter gain =8 db shot number 214 time = 841 87 55 33 403
channel two pre—filter gain = @

channel | post filter gain = & db

channel 2 post filter galin =8 db =
channel one pre—filter gain = @ db shot number 228 time = @841 87 34 13 484
channel two pre—filter gain = @

thapnel 1 post filter gain =& db ———— B
channel 2 post filter gain = & db

potential over locad on channel 1file number = 358 time = 841 B8 17 13 357
water delay to 1.8B@80AB seconds time = B&1 A8 23 23 348 shot = 383

water delay to 1.P0ABBBE seconds time = 841 88 24 13 346 shot = EBE8

water delay to |.080868 seconds time = B&1 BB Za 24 342 shot = 481

water delay to 6,.80800088 seconds time = B&1 €8 27 84 341 shot = 485
potential over load on channel 2

file number = B12 time = B&1 BF 24 53 Z@l

potential over load on channel lfile number = 44 time = B4l A7 48 13 178
potential over load on channel 2

file pumber = 258 time = 841 6% 41 13 188

potential ouver lead on channel 1file number = %278 time = 841 1@ 81 13 147
potential over load on channel 1file number = 728 time = 841 18 849 22 148
potential over load on channel 2

file number = 1184 time = B&1 18 37 13 APR : o
potential over load on channel 1file number = 131% time = A&l 18 59 23 B28
potential over load on channel {file number = 1458 time = @&1 11 22 32 %3¢
potential over load on channel 1+ile numbep = 14735 time = a1l 11 Z8 42 F&7
potential over load on channel 1file number = 1428 time = 841 11 58 52 922
potential over load on channel 1file number = 1429 time = B&1 11 T1 82 221
potential oyer load on channel 1file number = 14634 time = B&L 11 51 52 978
potential over load on channel 2

file number = 1845 time = 841 12 27 6z 247

potential over lead on channel 2 —— ==

file number = 1983 time = 841 12 58 B2 B88

potential over load on channel 2

file number = 2023 time = 841 12 56 42 78S .
potential over load on channel 1file number = 2828 time = B&1 12 S7 52 784
potential over leoad on channel 1file number = 2842 time = 841 13 @08 B8z 780
potential over load-on channel lfile number = 2045 time = Bal 13 8B 22 777
potential owver load on channel 1file number = 2B84¢ time = B&1 13 BB B2 779
potential over load on channel 2

file rumbepr = ZBP1 time = 8461 13 B8 BZ 763

potential cver load on channel 14ile number = 2872 time = B4l 12 B8 12 743
potential over load on channel 2

file numbepr = 2183 time = A& 13 18 B2 757 = =

potential over load on channel 2

file number = Z184 time = B&1 13 18 12 V3%

potential over load on channel 2

£ile number = 2185 time = B3] 13 18 22 738

potential over load on channel 2

file number = 2113 time = 841 13 11 42 734 -

potential over load on channel 1file number = 2119 time = 841 13 1Z 42 754
potential ower Toad on channel 2

file number = 2125 time = 8&1 13 13 42 751 —
potential owver lToad on channel 1file number = 2124 time = 841 13 13 5z 75l
potential over load on channel 1file number = Z121 time = 841 13 14 42 750
potential over load on channel 2 e -

file number = 2133 time = B&1 13 15 B2 74%
potential over load on channel 2
$ile number = 2148 time = A&1 132 14 12 744 bl e b
potential over load on channel 2
file number = Z142 time = 8&1 13 1& 32 746
otential over load on channel 2




file number = 2143 time = 841 1

channel one pre—-filter gain = 9
channe] two pre—-Ffilter gain = @
channel | post filter gain = 8
channe!l 2 post fllter gain = &
potential over load on channsl
file number = 2145 time = B&1 1
channel one pre—filter gain = @
channel two pre-+ilter gain = @
channel 1 post filter gain = 8
channel 2 post filter gain =18
1

potential aver load on channe
file number = 24982 time = @41 |
potential ower load on channe
potentlial over load on channel
potential over load on channel
end of tape shot number = 2944
replace tape on unit 8
start reel 2 time = 841

3 14 42 745

db shot number 2143 time = B41 13 14 4Z 745
db
db
2 ey
3 17 B2 745
db shot number Z14& time = Bal 13 17 12 744

db
db
z

4 13 12 &30

15 38 42 471

next tape not on line 137

nexwt tape not oon 1ine 13

next tape not on line 13

next tape nol on line 13
se-t-tape-not an Time 13

next tape not on ling .13

next tape pot on line 137

next tape mot on line 13 =
next tape not on line 13

next tape not on line 13

next tape not on line L3

next tape not on line 13

no write ring on next tape unit

cHannE1

one pre-{filter gain = 8
channel two pre-filter gain = 8
channel 1 post filter gain = &
channel 2 post filter gain = @
channel one pre-=+ilter gain = @
channel two pre—filter gain = @
channel 1 post filter gain = &
channe!l 2 post filter gain = &

potential over load on channel
potential over load on channel
potential over load on channel
file number = 1117 time = 851 1

to 1.,88868688 seconds
water delay to 0.8000888 seconds
channe]l one pre—filter gain = @
channel two pre—+fjilter gain = @
channel | post filter gain = &
channel 2 post filter gain = &

water de?ay

displaving channel |

channel one pre—=filter gain = @8
channel two pre—filter gain = 8
channel 1 post filter gain = 12
channel 2 post filter gain = 12
start reel 3 time = 041 21 88 4

potential over load on channel

potential over load on channel
potential over load on channel
B e R " Wt i B B

{+ile number = 5 time-

db shiot number 13132 time =

db
db

db shaot number B time
db

db
z 789

file number = & time

1
2

1¥ile number = 2483 time = 8481 14 13 22 &2%
tfile number = 2484 time = B&1 14 12 32 427
ifile number = 2512 time = @41 14 16 12 &41%
time = A&1 15 28 32 471 resl = 1

13

db shot number 118 time = B&1 15 58 13 43|

db

db

db shot number 128 time = 841 15 S8 22 438
b

db
1file number = 121 time = 841 15 58 43 430
1file number = 412 time = B&1 1& 3% 13 332
z
8 37 €3 894 .

time = 841 18 47 33 @72 shot = 1182

time = B4l 18 55 B4 857 shot = 1227

Bé1 19 89 33 028

@41 21 B9 22 787

8451 21 8% 32 787



e S b it
@ db shot number 48 tjime

file number = 38 Time = Hé&l
channel ocne pre—Filter gain
channel two pre—+filter gain
channel 1 post filter gain =
charnel 2 post filter gain =
channe! one pre-filter gan
channel two pre-filter gain
channel | post filter gain db
channe] 2 post filter gain = & db

I

B&l 21 195 12 7748

| BT

& db
1 db

2
8 db shot number 41 time B&l 21 1T 2B 775
8

I

181
i78

water delay to | .0008888 seconde time g4l 21 25 23 755 shot
wakter delay to 8.088988 seconds time B4l 21 346 54 732 shot
potential over load on channel £ T =

file number = 72 time = B&1 22 28 33 H24

potential over load on channel 2

File pnumber = 1244 time = B&Z2 88 33 53 371

potential over load on channel 1file pumber = 1245 time = B8&2 @8 346 83 371
potential over load on channel! (Ffile number 1298 time = BA2 BA 44 52 352
potential over load on-channel 2 S o~

file number = 1447 time = Q&2 681 45 Z3 2ZB
potential over load on channel lfile number
potential cuer load on channel 2

file number = 1474 time = @42 @1 47 53 225

([l

1448 time

B&Z2 81 48 33 227

potential over load on channel Z - =
file number = 2775 time = 842 @4 5S4 2 843
potential over load on channel lfile number

i

2794 time = B42 B4 SS9 32 B4Z

end of tape shot number = 2944 time = B&4Z2 BS 19 32 771 reel = 3
replace tape on unit @
staprt reel 4 time = 842 BE 17 42 721 - R R— R

potential over Toad on channel 2

Tile number = 1333 time = Bé&2 BY Bl 52 335

potential over iocad on channel 2

file number = 1234 time = B42 A% BZ HZ 335

potentia)l over load on channel 1¥4le number = 1335 time = @62 8% €2 12 335
potential ower lead on %hanei z

file number = 1471 time== B&2 B9 24 52 288

channe| one pre*#lkﬁé? dxin = & db shot number 8 time = =
channel two pre—=+filtér gain = @

channel 1:post filter gain = 12 db

chanmel 2 post fitter gain =12 db - i
start reel 5 time = 842 11 28 12 948

potential over loz'® on chahnkl Z |
fiTe number = 3 time =" 842 11 28 12 634

potential over load on channel 1file number = 38 time = 852 11 28 22 B30

potential over load on channel 2

file number = &3 time = B&2 11 32 32 BET
potential over load on channel 1file number = 44 time = 8452 11 32 42 82&
water delay to |.8BB@BEE seconds time @éz 11 96 12 999 2 shot = 145
water delay to | .PBBBAE seconds time

Baz 12 81 12 7a8 shot = 235
potential over load on channel 1file number = 52! time = @42 12 48 51 878
potential over load on channel 2 =
file number = 573 time = B&2 12 §7 31 852
potential over load on channel 2
file number = 424 time = 842 13 17 41 811
potential over load on channel 2
file number = 788 time = B&2 132 28 81 284

_potential over lcad on channel 1file number = 211 time = B84£2 13 52 51 7237
potential acuer load on channel 2
file number = 13 time = 842 13 54 11 734

Lt




ost filter ain =

potential over Toad on channel 2
file number = 1873 time = 842 14 28 51 481
potential ower load on channel lfile number = 1874 time = 852 14 21 81 481
water delay to 9.089088 seconds time = 882 14 24 Z1 &74 cshot = 18%4
potential over load on channel 2
file number = 1698 time = 862 14 25 81 573 —
potential over load on channel 1file number = 189% time = g8Z2 14 25 11 &73
channel one pre—-filter gain = @8 db shot number 118% time = 862 14 2& 51 449
channel ftwo pre—-filter gain = 8
channel 1 post filter galn = & db
channel 2 post filter gain = 12 db — A
channel one pre—filter gain = 8 db shot number 1118 time = B&42 14 27 81 &4&%
channel two pre-filter gain = 8
channel 1 post filter gain = & db
channel Z post f1lter gain = & db
water delay to 1.B9GA6Q seconds time = B42 14 37 11 444 shot = 1185
chianmel one pre—filter gain = # db shot number 778 time—=862 14 1784443
channe]l two pre—filter gain = 8
channel 1 post filter gain = 12 db
channel Z post filter gain = & db
channe! one pre—filter gain = 8 db shot number 1773 time = B&2 16 17 34 442
channel ftwo pre—filter galn = B

— channel | post filter gain.= 12 _db = = =
channel 2 post filter gain = 12 db
potential over load on channel 1file number = 1791 time = B&2 16 28 34 43¢
potential over load on channel 2 .
file number = 17%4 time = B42 14 21 29 434
potential over load on channel 1fiie number = 1797 time = B&2 16 21 34 434
channel ocne pre—fllter gain = B db shot number 1799 time = @42 1& 21 T4 433
channel two pre—filter gain = @
channel 1 post filter gain = & db
channel 2 post filter galin = 12 db
channel one pre—+ilter gain = & db shot number 1888 time = BEE 1& Z2 84 433
channel two pre-filter gain = @
channel 1 post filter gain = & db = =
channel 2 post filter gain = & db
water delay to 2.888088 seconds time = B&E 17 43 29 Zss shot = Z2Z28
channel one pre—filter gain = 8 db shot number 2445 time = 842 18 8% 33 212
channe] two pre—filter gain = @
channel 1 post filter gain = 12 db
channel 2 post filter galn =& _db . —
channe! one pre—-filter gain = @ db shot number 2444 time = 842 128 89 45 212
channel two pre—filter gain = 8
channel 1 post filter gain = 12 db .
channel 2 post filter gain = 12 db
channel one pre—-filter gain = 6 db shot number 2582 time = 842 12 32 235 1é&0
channel two pre={filter gain = 8 =
channel 1 post filter giain = & db
channe] 2 post filter gain = 12 db
channe] one pre—filter gain = 8 db shot number 2585 time = 862 18 32 592 144
channel two pre—filter gain = @
channe]l 1 post filter gain = 12 db
channel 2 12  do




A a b mrimmEam == A ok bems w= A& ] TS0 L R L B s

end of tape shot number = Z%¥44 fTime = 842 17 32 25 @4l res] = 5
replace tape on unit @
start reel & time = B&Z 19 33 15 844

next tape not on line 13

next tape not on line 13
next tape not on line 132
next tape not an line 13
next tape not on line 13
next tape not on line 13
next tape not on ltine 13 - o
next tape not on line 13
next tape not on line 13

next tape not onm Time 132

water delzay to | ,BEA080 zeconds time = BEZ ZE2 27 24 &2 shot = 1844
potential over load on channel 2
+ile number = Z3%8 time = B&3 B2 12 549 222 — ==

potential over load on channel L1file number = 2399 time = 843 682 13 84 222
potential over load on channel 2

file number—= 2523 time = @83 62 3% 994 188

potential over load on channel 1File number = 2524 time = B&32 B2 3IZ 54 179

end of tape shot number = 2744 time = @43 832 44 14 B35 reel = &
replace tape on unijt 1
start peel 7 time = B&£32 82 449 Z4 825

water delay to | . 8088868 seconds time = BS2 0% 38 24 Z24E shot = 2125
water delay to Z.88068688 seconds time = 843 8Y 38 54 387 shot = Z128
displaying channel 1

water delay to Z.888888 zeconds time = B&3 18 27 4494 287 shot = 2421

displaving channel 1

water delay to 1.088800 seconds time = 843 11 14 24 111 shot = 2708
end of tape shot number = 2744 time = 843 11 55 24 824 res] = 7
replace tape on unit @

start reel 8 time = 843 11 55 249 828
next tape not on line 13

next tape not on line 13
next tape not on line 13
next tape not on line 13
next tape not on line 132
next tape not on line 13 B : =
next tape not on line 132
next tape not on line 13
next tape not on line 12 N
next tape not on line 13
next tape not on line 13
~ next tape not on lTine 13 _— R e Al
next tape not on line 13
next tape not on line 13
next tape not aon Tine I3
next tape not on line 12
next tape not on line 13
next tape not on line 13 )
next tape not on line 13
next tape not on line 13
next tape not on 1ine (3
next tape not on line 13
next tape not on line 13
next tape not on line 13 h - h
next tape not on line 13
next tape not on line 13
next tapeé not on Tine 13
next tape not on line 132




Mext
next
next
next
next
next

Ltape
tape
tape
tape
tape
tape

nat
not
not
not
mot
not

no write ring
next tape not
next tape not
next tape not

water delay
water delay
wEter delay
water delay
water delay

to
to
to
to
to

ar

| e
ine
ins
ine
ine
ine
next
Tine
Tine 1
Tine 1
LHa80688
LEBEEEGE

1
1
1
1
1
1

t
1

e

.Gop0en

. B8668688
08880848

=
2
3
)
3
ape unit
2
3
3
seconds
seconds
secaonds
ceconds
seconds

12

time = B&R
time = B&3
time = @83
time = B&2
time = B&T

439
28
23
a8
37

]
14
B
15
15

249 DiBa
33 712
34— 5%9
B85S 549
29 Sé7

water delay to Z.8088080 seconds

channel
channel
channel
channel
channel

channel

one pre=filter gain

two pre—filter qain a
1 post Filter gain = 24
2 post filter gain = 12
one pre—-+filter gain = @&
two pre=filter gain i

time = RBA4 RMA. 58 45 424 2 <h

channel one pre—filter gain = @ db shot number 1722 time
channel two pre—-filter gain = 8

channel + post filter galn = 24 db

channel 2 post filter gain = 12 db

channel one pre-filter gain = 8 db shot number 172% time
channel two pre-filter gain =8

chanrne]l 1 post filter gain = 24 db

channe] 2 post filter gain = 24 db

channel one pre=filter gain =8 db shot number 1734 {ime
channe!l two pre—filter gain = 8

channel | post filter gain = 12 db

channel 2 post filter gain = 24 db :
channel one pre—=+filter gain = 8 db shot number 1235 time
channe]l two pre—Ffilter gain = 8

channel 1 post filter gain = 12 db B -
channel 2 post filter galn = 12 db

water delay to 2.0008008 seconds time = 642 20 84 4T @28
water delsy to 2.008R08 szsconds time = @43 28 B4 55 B17
water delay to 2.000888 seconds time = B&3 28 A7 @5 @41%
end of tape shot number = 2944 time = @843 20 87 25 818
replace tape on unit 1 — = =
start reel % time = B&T Z8 A7 35 818

channel one pre-filter gain = @ db shot number 33 time =
channel two pre—+|lter gain = 8

channel { post $iiter gain = 24 db

channel 2 post filter gain = 12 db e —
channe] one pre—filter gain = 8 db shot number 35 time =
channel two pre—-+filter gain = 8

channel 1 post filter gain = 24 db

channe] 2 post filter gain = 24 db

potential over load on channel 2

file number = &8 time = 842 28 1|7 24 7%8

potential over load on channel 1file number = &1 time =
sotentlal over load on channel 14)1e number 52 time = 8
potential over 1oad on channel 1file number = 74 time =
channel one pre—filter gain = 8 db shot number 77 tims =
channel two pre—filter gain = @

channel | post filter gain = 12 db - o
channel 2 post filter gain = 24 db

channel one pre—filter gain = 8 db shot number 72 time =
channel two pre—+tilter gain = B N

channel 1 post filter gain = 12 db

channe]l 2 post fllter gain = 12 db

db shot number 175% time
db
i ]

db shot number 17&2 time

shot = &59

shot = %18

shot = 251
shot = 1334
shot = 1342
= @Ba3 17 1&
= @s2 17 17
= 8532 17 18

shot

shot

shot
reel

B

2942

= 2943

2744

44 Z&@

54 345

843 20 14 15 000

" B43 ZB 14 34 999

o P

863 28 17 39

44

343 28 19 44
As3 28 26

1

ki id
77
PR3
4 PF2

B&3 28 28 24 77|

t =

o
Bs4G

863 17 18 54 343

Ba4 A1 BB 456 4Z=



channel 1 post Tilter galn 24 db
channe]l 2 post filter gain 24 db
potential over load on channel| 2

file number = 1774 time = 844 @l 83 #s 413
potential over Yoad on channel 2

fFile number = 1775 time = B&4 B1 a3 1& 417
potential over load on channel 2

file number = 1774 time = B&4 Bl B3 24 417
potential over Toad on channel 2

file number = 1777 time = 844 @1 832 35 417

potential over load on channe] 2
file number = 1881 time = 844 @81 87 34 489
| channel one pre-filter gain = & db shot number 1882 time

As&4 81 BY 44 488

| channel two pre—filter gain = 8
channel 1 post filter gain = 12 db
channel 2 post filter gain = 24 db
channel one pre—filter gain = 8 db shot number 1883 time = 844 @1 @7 S& 468
channel two pre—-filter gain = B ' RS )
chanrne]l | post filter gain = {2 db
channe] 2 post filter gain = 12 db

| end of tape shot number = 2944 time = B&4 84 18 27 827 reel = ¥
replace tzpe on unit @

start reel 18 time = @854 @84 18 37 AE7
next tape not on line 13 -

next tape not on Tine 13
next tape not on line 13
next tape not on tine 13
next tape not on line 13
next tape not on line 13
next tape not on line 13
next tape not on line 13
next tape pot on line 13
next tape not on line 13
next tape not on line 13
next taps not on linme 13
next tape not on line 13 o -
next tape not on line 13

next tape not on line 13

next tape not on line 13

next tape not on line 13

next tape not on line 13

next tape not on line 13 T -
next tape not on line 13

next tape not on line 13
next tape not on line 13

next tape not on line 13

next tape not on line 13

next tape not on line {3 -
next tape not on line 13

next tape not on line 13

next tape not on line (3

next tape not on line 13

water delay to 4.808888 seconds time = B&4 BF 84 246 454 shot = 1:
end of tape shot number = 2944 time = B&4 12 29 47 8379 resl = 18
replace tape on unit 1

start reel 11 time = B&d4 12 27 57 838

next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14

next tape not on line 14

next tape not on line {4 =
L 14




I

vape HBL &N Ve A5

next tape not on line 14

next tape not on line 14

next tape not on line 14

next tape not on line 14

next tape not on Time 14

rnext tape not on Tine 1§ e —a——

next tape not on line 14

no wreite ring on next tape upit 14

next tape not on Tine 14

channel cocne pre=filter gain = 2 db shot number 445 time
channel twoe pre—f1lter gain = @ - —
channel 1 post filter gain = 24 db

channel 2 post filter gain = 12 db

channel one pre—=Ffilter gain = 8 db shot number 444 time
channel two pre-+ilter gain = @

channel 1 post Filter gain = 24 db

channel 2-post Filter gain = 24 db —
channel one pre-filter gain = 8 db shot number @ time =
channe]l two pre—-filter gain = @

channel-—1 post filter gain = 12 db .
channel 2 post filter gain = 12 db

start reel 12 time = 644 |3 58 34 857

channel one pre—-filter gain = 8 db shot number &4& time
channel two pre—-filter gain = @

chiannel 1| post filter gain = 24 db

chanrnel 2 post filter gain = 12 db

channel one pre—filter gain = 8 db shot number &47 time
channel two pre—-filter gain =86 3 =
channel | post filter gain = 24 db

channel 2 post filter gain = 24 db

channel one pre-=+ilter gain = & db shot number 1388 time
channel two pre—-filter gain = @

channel 1 post filter gain = 12 db a

channel 2 post filter gain = 24 db

channel one pre—filter gain = B db shot number 1387 time
channel two pre—filter gain = @

channel 1 post filter gain = 12 db

channel 2 post filter gain = l2 db

channel one pre—filter gain = @ db shot number 2883 time
channel two pre—filter gain = @

channel 1 post filter gain = 24 db

channel 2 post filter gain = 12 db

potential ocver load on channel 1file number = ZE78 time =

channe]l
channe]
channel
channel

end of tape shot number =

Teplace

start reel
tape
tape
tape
tape
tape-
tape
tape
+ ape
tape
tape

next
next
next
next
mext
next
next
next
next
next

one pre—+ilter gain
two pre=filter gain
I post—+ilter gain =
2 post filter gain =

Y

tape o unit 8
12 +time = 844 22

not on line 13
not an line 13
not on line 13
not on line 13
net o Hne 13
not on line 13
not on line 13
apot-on line 13
not on line 13
not on line 13

8% 35

12 db
db
27448 time =

241

B4sd 22 BF 25 B41

Bsd 12 44 845 887

854 13 44 1& 886

86494 15 44 B4 638

16 &87

Bégqd 15 44

Bsd 17 3& 8o

)
)
ol

g4 17 3Ié& 16 373

= Pod 21 o 0D BEET

864 22 BB 80 860

res] =

@ db shot number 28%4 time = 844 22 @8 45 858
a

12




-

13
13
13
13
13
13
13
13
13
13

13

ine
| e
ine
ine
ine
line
line
1ine
line
1ine
line
lLine 13

next tape unijit 13
BABREA seconds time
water delay to 2.0088088 seconds time =
erid of tape shot number =
replace tape on unit |
start reel 14 time = BAS B4 28 45 845

not
not
not
not
niot
not
not
not
not
not

on
on
on
an
(mlni
on
on
on
20
on
on

next
next
next
next
next
next-
next
next
next
next
next tape not
next tape not on
no write ring on
water delay to 2,

tape
tape
tape
tape
tape
tape
tape
tape
tape
tape

e R L

d&64 23 28 S7Y 4B8
845 84 34 26 857

2746 time = 845 8BS 28 3T 845

end of tape shot number = 2944 time = B&S 14 31 35 847
replace tape on unit 8

start reel LS time = @45 14 21 45 247

water delay to 1.00808BBE seconds time = BAE 17 3% 24 47%
channe] one pre-filter gain = ® db shot number 8 time =
channel two pre—Ffilter gain = 8 =
channel | post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 8 fime. = B&5 B 494 54 344

water delay to 2,8B80888 seconds time =
channel one pre-=4|lter gain = 8 db
channel two pre-+filter gain = @
channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
stapt pesl 17 time = B435 22 32 34 B34
water

delay to Z.880888 seconds Lime =

Bs5 18 46 24 3241

shot number @ time =

Bsos BB 38 8BS &30

water delay to 2.80868888 =sconds time Bas 88 41 Bs &12
water delay to 3.0088808 seconds time = B&& B2 17 45 412
potential over load on channel 1+ile number = 2381 time
end of tape shot number = 2944 time = B&5 B7 B3 25 821

replace tape on unit 8

start reel 13 time = B&& BY B2 45 BEL

next tape not on line 13

next tape not on line 13

next tape not on line 13

next tape not on lTine 12

next tape not on line {3

next tape not on 1ine 13

not on line 13

not on line 13

to 4.88B888 seconds

to Z.ABBEBAE seconds

“to Z.00G08088 seconds
to 2.0082808 zeconds
pre—filter gain = @
pre—filter gain
channel 1 post filter gain db
channel 2 post filter gain db

- start reel 17 time = 844 14 27 34 9hZ

time
time
time
time =

water
water
water delay
channel one
~ channel two

mwmn

|
12
12

water delay to Z.8@AA0B8 seconds fTime = B&& 19 13 24 867
water delay to 2.8808800 seconds time = B&E
end of tape shot number = 2¥44 time =
replace
ztart reel

tape on unit @
28 time Bas 22 3% 25 885

B8&6s6 22 2% 10

B&s
d46
EE-T-
B8aé

@48 34 B85 &34
88 36 46 &Z8
g9 S@ 55 577
14 1@ 23 %38

db shot number @ time =

146 35 138 &42

288

shot
shot

I

ree] =

reel

shot

shot

shot
zshaot
_=shat

reel

shot
shot
=hot
shot

shot
shaot

reel =

n

o

Baéd Bas

nouu

il

47 &
2589

13

19

1124

18

2845
&5 2
1232

82 335 947

1

5493
5a%
43
2397

274
739

19




g s b Lot M A L ) b it e A e, L et il B bl b - -

R — R —— -

end of tape shot number = Z%¥44 time = 847 B84 T1 48 287 real = 20
replace tape on unit |

start reel 21 time = B&Y B& 31 28 887

next tape not on Tine 14

next tape not on line 14

next tape not on line 14 o
next tape pot on line 14

next tape not an line 14

next tape not on line 14

channe]l one pre—filter gain = 8 db =shaot number 8 time
channel two pre-fiiter gain = @

channel 1 post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 21 time = B482 81 55 14 554

channel one pre—-filter gain = 28 db shot number 8 time

channel two pre—-filter gain i
channel | post €ilter gain = 12 db o
channel 2 post filter gain = 12 db

start ree] Z2 time = B&8 B2 B84 1& 535
water delay to 3.80668808 seconds time _
water delay to Z.886808 seconds time Baz B4 BY BY 2889 shot 738
water delay to 3.06680688 seconds time &g 87 54 45 B1Z shot = 2115
end of tape shot number = 2944 time = 848 18 15 1& 5332 reel = 22
replace tape on unit @ - i
start reel ES}time = 848 18 13 36 531
end of tape shot number = 2¥4& time = @G48 18 26 25 3553 reel = 23
replace tape on unit 1 '
start reel 24 time = @48 18 2& 35 552
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not an line 14
next tape not on line 14
next tape not on linme 14
next tape not on line 14
next tape not on line 14
next tape not on line 14
next tape not on tine 14
next tape not on line 14
next ftape not on Tine 14
next tape not onm lime 14
next tape not on Tine 14 e e
next tape not on line 14
next tape not on line 14

1

I

1

1

1

|

1

1

|

1

1

1

1

1

i

B48 63 34 16 344  shot = 553

next tape not on line 14
next tape not on line 14
next tape not on line 19
ape ine 14 = e
ine 14
ine 14
ine 14 e — =
ine 14
ine 14
ine 14 BERABREBR B = B
ine 14
ins 14
ine 14
ine 14
ine 14

next tape not on
next tape not on
next tape not on
next tape not on
next tape not on
next tape not on
next tape not on
next tape not on
next tape not on
next tape not on
next ftape not an

tape not on




nexti LTape OT on lLine 149

channel one pre=filter gain = 8 db shot number 21é time = @48 1% 17 B85 44%
chanrel two pre-filter gain = 8

channel 1| post filter galn = 24 db

channel 2 post filter gain = 12 db

channel one pre=-filter gain = @ db shot numbepr 217 time = @48 17 17 15 447 —
channe] two pre-=fjilter gain = @

channel | post filter gain = 24 db

channe]l 2 post filter gain = 24 db

potential over load on channel 2

file number = 321 time = 842 19 17 25 447

potential over load on channel 1file pumber = 322 time = B&L&B 12 20 85 447
channel one pre—-filter gain = 8 db shot number 322 time = B&E 17 28 BS 447
channel two pre—Ffilter gain = @

channel 1 post filter gain = 12 db

channel 2 post filter gain = 24 db

channel one pre—filter gain =8 db shot number 325 time = B&8 1% 28 15 447
channel two pre=filter gain =86 .

channel 1 post filter gain = 12 db
annel 2 post Fillter cain = 12 4db

end of tape shot number = 2944 time = B&Y BZ 37 246 IE3 real = 24
replace tape on unit @
start reel 25 time = 6487 82 37 35 583

——channel one pre=filter gain = 8 db shot number B time
channel ftwo pre—Ffilter gain = 8
channel 1 post fl]lter galn = 12 db
channel 2 post filter galn = 12 db
start reel 246 time = B&? 84 12 1& 392

potential over load on channel 1file number = 72492 time = 847 84 S8 27 870
potentlal over losad on channel]l 2 - -

File number = 1178 time = B&% B7 38 34 788

potential over load on channel 14ile number = 1388 time = B4% B8 83 34 721
potential over load on channel 1file number = 2457 time =

potential over load on channel 14ile number = 2579 time = B4% 11 22 84 517

potential over igad on channel 2

file number = 25%4 ftime = 84&% 11 24 348 511
potential over load on channel 2

file number = 2787 time = B&% |1 43 2& 473
potential over load on channel 2 S—
file number = Z27VAF time = B&% 11 42 44 473
potential over load on channel 2

filleg number = 2718 time = 84% 11 43 S5& 472
potential over lopad on channel 2

file number = 2328 time = @B&% 12 @2 14 435
potential over ipad on channel 2

file number = 2821 time = B8&% 12 B2 24 435
end of tape shot number = 27445 time = B4% 12 23 16 272 reel = Z2&
replace tape onm unit @

start reel 27 time = B&% 12 23 26 372

potential over load on channel 2
file number = 188 time = 842 12 41 246 353

potential over load on channel 2

file number = 122 time = B8&% 12 43 46 358

sotential over load on channel 2 - B

file number = 214 time = 84% 12 5% 845 317

potential over load on channel 2
i
|

865 11 Bl 44 558 i
!
|

$ile number = 215 time = B4F 12 5% 14 3179
water delar to 4.088008 =econds time = 869 13 B2 24 312 shot = 234
potential over load on channel 1file pumber = 271 time = 84&% 13 88 37 300
potential over load on channel 2

file number = 273 time = B&% 13 88 57 279
potential over locad on channel 2

file number = 274 time = B&F 13 8% 87 279
laying channel |

! et B b »

disp




channel
channel

potential

1 post filter gain = & db
2 post filter gain = 12 db
over load on channel 2

file number = 388 time = 6&% 13 14 47 287

channel
channel
channel
channel
channel
channel
channa]
channel
channel
channe)
channel
channel

potential

one pre={filter gain = @& db shot number
two pre-filter gain =8

1 post filter gain = & db

2 post filter galn = & db

one pre—filter gain =8 db shot number
twe pre—Ffilter gain = @

1 post filter gain 12 db

2 post filter gain & b

one pre—-filter gain = 8 db =hot number

o

two pre—+filter gain &
| post filter galn = 12 db
2 post filter gain = 12 db

over load on channel Z

file number = 484 time = 8459 13 28 47 254

channel
channel
channel
channel
channel
channel
channs)
channel

water delay to Z.86608088 seconds

channe]
Thanmet
channel
channel

channel one pre—=filtter gatn =48 db =shot number

channel two pre—-filter gain = @

channel 1 post filter gain = 12 db
channel—Zpost—Fflttergain =12 —db

potential over load on channel L1+ile number = 2184 time
potential over load on channel 1file number =

potentral over locad on channel 2

fweo pre—=filter

one pre—filter gain @ db shot number
gain @

1 post fi{l1ter gain = & db

2 post filter gain = L2 db
one pre—filter gain = 8 db shot number
two pre—filter gain = @

1 post filter gain = & db
2 post filter gain = & db

one pre—filter gain = 8 db shot number
two pre=filter gam = 8

1 post filter gain = 12 db
2 post filter gain = & db

file number = 2372 time = B4% 19 B2 BV 585

potential

over load on channel 2

i le—number ="2888 time = 8&% 28623 37 422
end of tape shot number = ZF44 time = @&% 268 34

replace

=tart reel
potential

channel
chanmet
channel
channel
channel
channel
channel
channel
channel
channel
chanmel
channel

a2tart reel

= &
2-post-—+iltter—gain = ©& —db

tape on unit 1
Z28-time = 847 26 34 47 460

over load on channel
one pre—-filter gain = @ db shot number
two pre—+filter gain = @
! post filter gain = & db
2 post Filter gain =1 db

orne pre—+filter gain =
two pre—Ffilter gain =
I post filter gain

z

@ -db shot number
2]

db

one pre—=filter gain =
two pre—-filter gain =
i—post+ilter gain = 12 db
2 post filter gain = 12 db
29 time = 847 21 28 S7 J0g

8 db shot number
5

channel one pre-4ilter gain = & db shot number
channel ftwo pre-+filter gain = 8
channel | post filter gain = & db

Ay ™ Al o e e e e L g s e ——

time = 849 14 31 37 131

2378 time

388 time = B&% 13 14 47 287

283 time = @49 13 Z7 17 2481

384 Eime = 049 13 27 27 251

412 time = B&% 13 32 B7 252

413 time = 867 13 32 17 251

SHnt = ?E?
1356 tlme = B&F 16 BP 27 ¥34

TE5F-time = B&FP 14689375349

B&T 18 27 27 &55
&% 19 @81 47 S84

327 4886 reel] = 27

l¥ile number = 28 time = B&? 28 48 37 3388

188 time = 8&% 28 51

17 267

161 time = B4% 28 351 27 247

8 time =

B time = B&7 21 23 47 277



channe|l & post +iltefr gain = 12 ab =,
channel one pre—filter gain =8 db shot number 21 time = 849 21 23 57 298
channel two pre—F|1ter gain = B

channel 1 post filter gain & db

channe!l 2 post filter gain & db

end of tape shot number = 29448 time =878 65 3t 445 347 reel = 2% e
replace tape on unit @

start reel 38 time = @78 B35 21 S& 347

end of tape shot nomber = 2942 time = 878 13 42 57 374 resl = 2@

replace tape on unit |

start reel 21 time = 878 13 43 @87 379

channe! one pre—fllter gain = @ db shot number 1272 time = 878 17 15 8& ¥8&
channe! two pre—filter gain = @

channe] | post filter gain = 12 db

channel 2 post filter galn = & db =

channel one pre-=filter ogain B7e 17 15 1& 784
channel two pre—filter gain -
channel 1 post filter gain db

5
channel Z post Filter gain 2 db

end-of tape shot number = 2244 time = 878 21 54 14 433 reel =31
replace tape on unit 8

start reel 32 time = 878 Z1 S4 24 452
rext tape not on bine 13 =

next tape not on line 13

next tape not on line 13

Aext tape pot on line 13

next tape not on line 13

next tape not om line 13

next tape not on line 13 . —
next tape not on line 13

next tape not on line 13

next tape not on line 13

B db shot number 1273 time
6}

[
1

end of tape shot number = 2744 time = 871 B84 BS 35 5146 reel = 2Z
replace tape on unltt 1
start ree] 33 time = B71 86 85 435 51é

water delay to 4.8088060 seconds time = B71 8% 88 16 148 chot = 18%&
water dalay to 4,.886000 seconds time = B71 B8F @5 2& 148 shot = 18%7
water delay to 4.0000088 seconds time = B7! B BB 346 147 shot = 18738

channe) one pre—Filter gain = 8 db shot number 2541 time = @71 13 12 23 781

- cEfiannsl eogoepetelFERE ey e -, N
channe]l 1 post filter gain = 24 db
channel 2 post filter gain = 12 db
channel one pre=Ffilter gain =8 db shot number 2542 time = @71 13 12 335 781
channe] two pre—Ffllter gain = 8
channel | post filter gain = 24 db
channel Z post filter gain = 24 db = . — ’
channel one pre—=filter gain =8 db shot number 2522 time = 871 13 17 35 &%l
channel ftwo pre—=filter gain = @
_ channel 1 post filter gain = 12 db
channel Z po=t filter gain = 24 db
channel one pre—filter gain = 8 db shot number Z5%2 time = B71 13 17 43 &%l
_channel two pre-filter gajn = 8
channel 1 post filter gain = 12 db
thannel 2 post filter gain = 12 db
__channe! one pre—=filter gain = 8 db shoit number 8 time = -1 -
channel two pre—Ffilter gain = 8
channel 1| post filter gain = 12 db
__tchannel 2 post fllter gain = 12 db B — B

start reel 34 time = @71 15 25 1@ 545

water delay to 5.868P888 seconds time = 871 21 8] 3% ?1é shot = 2822
channel one pre—=filter gain =8 db shot number 8 time =
channel two pre—filter gain = 8




thafnhel £ postl T1I1Ter galll = Lo 4o

start reel 25 time = 871 23 3& 48 417

water delay to 4.800888 cseconds time = BY2 62 18 48 184 shot =
ernd of tape shot number = 2744 time = BFZ BY 47 24 &£37 reel =
replace tape on unit @

start reel Z4& time = B7Z 87 47 49 &37

water delay to 3.0898008 seconds ftime = 872 13 53 3& $87 shot = 2195

end of tape shot number = 2944 time = B72 15 58 45 &45 res]l =
replace tape on unit |
start reel 27 time = 872 1|5 38 55 &85 — -

channel one pre—+filter gain =@ db shot number 8 time =
channel two pre=filter gain = @

channel | post filter gain = 12 db

channel Z post f#ilter gain = 12 db

start reel 38 time = @73 22 45 55 237 e —

end of tape shot number = 2944 time = 874 84 546 43 252 resl =
replace tape on unit @

start reel 3% time = 874 84 54 53 251

water delay to 2.000088 szeconds time = 874 @7 @7 532 227 shot =
water delay to 3.808068 seconds time = 874 11 28 25 712 shot =
water delay to Z2.898886 seconds time = @74 |1 29 23 7180 shot =
water delay to 2.0098872 =zeconds time = B74 11 38 44 7@8 shot =
potential over load on channel 14ile number = 1847 time = @74 1Z2

end of tape s=hot fumber = 2948 time = @674 15 @7 S5 282 reel =
replace tape on unit |
start reel 48 time = 874 1S 88 835 283

potential over load on channel 2

file number = 1928 time = 874 28 2% 14 45%

potential over load on channel 1file number = 1727 time = 874 2@
water delay to 4.00800808 =zeconds time = @74 21 87 @4 584 shot =
water delay to 2.08BB086 seconds time = 874 21 54 55 473 shot =
potential ouver load on channel 1file number = 2938 time = @74 23
end of tape shot number = 29446 time = 674 23 18 54 318 regl =
replace tape on unit @

start resl 41 time = 874 22 1% B4 287

potential owver lgad on channel 1file number = 2588 time = @73 84
end of tape shot number = 279446 time = B7S 87 38 83 359 reel =
replace tape on unift 1 o
start reel 42 time = @75 BY 38 135 358
next tape not on line 14

next tape not on line 14 S g
next tape not on line 14

next tape not on line 14
next tape not on limne 14 — —_— R
next tape not on line 14

next tape not on line 134

next tape not on line 14
channel one pre-filter gain =
channel two pre—+filter gain =
channel 1 post filter gain = 12 db
channel 2 post 4ilter gain = 12 db
start ree] 43 time = B7S BER222 45 243=

db shot number B8 t}me =

ol s

channel one pre—Ffilter gain = 8 db shot number 8 time =
channel two pre-filter gain = @
channel 1 post filter gain = 12 db
channel 2 post filter gain = {2 db e
ztart reel 43 time = BFS BE 35S 2S5 235

- T_ = - SR - - | N P I — | ] i —
- b T e 4 i i y 1 RS — —  p—— Fp -

1338

=3

34

38

&

1427
1435

14543

B4 45 &41

as

29 24 SE8
2135

2442

172 58 319
48

1S 45 Soa
41




end OT Tape SOl NMUmoel = L2500 LIINE = "o 20 A ad, &l LI =5 =N
replace tape on unit @
start rea)l 44 time = 875 146 44 3235 251

channel one pre—filter gain = &8 db shot number 8 time =
channel two pre—+filter gain = @

channel 1 post filter gain = 12 db
charnel 2 post filter gain = 12 db
start reel 45 time = 875 1B 54 14 778

water delay to 4.6BA088 seconds time = B735 18 546 44 982 shot = 1
water delay to 3.,888888 seconds time = @73 21 85 55 722 shot = 7
end of tape shot number = 2944 time = @74 B3 @85 85 822 reel = 45
replace tape on unjit @

start reel 46 time = I haddD 822

1

channel one pre-filter gain =8 db shot number @ fime
channel two pre-filter gain = @

charnel | post filter gain = 12 db

channel 2 post filter gain = 12 db

start reel 44 time = 74 B2 18 45 @11l

potential over load on channel 2

file number = 1737 time = 874 B2 88 24 444

chans- are pre—=filter gain = @ db shot number | =
channel two pre-filter gain = B

channel 1 post filter gain = 12 db
channel B post filter gain = 12 4db
start reel 47 time = B7438% 45 34 237

7 . 3d& 581 shot = 1793

water delay to 4.088008 seconds time = B74215 1
¥ 5& 24 256 reel = 47

&
end-of tape <shot number = 2744 time = B753
replace tape on unit 8

3
i

charnel one pre—filter gain = 8 db shot number B time =
channel two pre—-filter gain = @
channe)l 1 post filter gain 12 db

channe]l 2 post fjlter gain = 12 db
start resl 48 time = @74 18 BB 1& 248 I o

water delay to 3.600888 seconds time = B7é& 17 48 26 823 shat = 458
water delay to 4.080880 sesconds time = 874 28 55 &84 885 =hot = 1858
end of tape shot number = 2944 time = @77 B2 11 846 234 res] = 48
replace tape on unit @
—start reel 49 time = @677 @2t té 2P ——— —  —
water delay to 3,.888888 seconds time = 877 85 3% 15 381 shot = 1248
end of tape shot number = 2944 time = @77 18 22 15 218 reel = 4%
replace tape on unit | o '

Eﬁﬁﬂﬁe$eskesgrgL$TI?eg?éa{ﬁ gfaﬁﬁﬂglghﬂt number 8 time =
— eghannel two pre=Ffilter galn =8® — - - -
channel 1 post filter gain = 12 db
channel 2 post filter gain = 12 db
start reel S1 time = @77 |3 1% 54 8406

water delay to 4.808888 seconds time = BYY 15 28 17 574 cshat = 75%
end of tape shot number = 2744 time = A77 21 328 50 824 resl = FI
replace tape on unit 8
start reel S2 time = 877 21 31 85 823
channel one pre—filter gain =8 db shot number B8 time =
channel two pre—filter gain = 8
channel 1 post filter gain = 12 db
__channel 2 post Filter gain = 12 db - -
start reel 52 time = B772214484208788
unable to open tape unijt: Sdew/nrlé@8Bmta
__channel one pre—filter gain =8 db shot number 8 time =
channel two pre-=filter gain = @
channel 1 post filter gain = 12 db
n = jlter gain = 12




channel twg pre—filter gain =
chznnel | post filter galn = 2
channe]l 2 post fi{lter gain = 1
channel one pre—filter gain =
channel two pre—-ftilter gain
channel ! post filter gain = 1 db

channe]l 2 post filter gain = 12 db

end of tape shot number = 2944 time = 878 85 82 15 821 real = 52
replace tape on unit @

start reel S2 time = B72 84 02 25 829
end of tape shot number = 2946 time = 878 14 13 24 834 reel = 53
replace tape aon unit 1

etart reel 54 time = 678 14 13 34 833

end of tape shot number = Z¥F44 time = @78 22 24 25 878 res] = 549
replace tape on unijit @

start reel S5 time = 878 22 24 35 &70

water delay to 2.888888 <econds time = B7% B84 83 14 212 shot = 2833

db
@
db shot number &3 time

| SR 38 L

W7/ 22 8] 48 7él

(g R e ]

Lol et de b Hneg = &BYé 0@ &= d a2 -
channel one pre-filter gain db shot number S7 time = @77 22 88 44 7a3 -w
|
|

end of tape shot number = 2944 time = B7% 84 35 24 789 ree] = 58
replace tape on unit 1

start reel 54 time = @879 68 35 24 ¥A3

water delay to 4.068888 seconds time = B7% BF A& Z2& SB6 shot = 7@4
water delay to Z.68@0868 seconds time = 87% 8% 87 Z7 5FF shot = 712
water delay to 2.8808088 seconds time = @72 8% 41 45 528 shot = 1117

channel one pre-filter gain = & db shot number 8 time =
channe] two pre—+ilter gain = : = —

2]
channel 1| post filter gain = i2 db
channel Z post filter gain = 12 db

start reel 57 time = 879 18 14 3& 457

water delay to 4.8060000 seconds time = 877 14 88 Bs BBl shot = 1342
end-of tape shot number = 2244 time = B2 18 27 24 474 reel = 57

replace tape on unit 8

wpipR7EeL 2y S0t PmAORABBssapgnds time = B7Y 23 64 BF 34 shot = 1471
channel one pre—filter gain = ® db shot number 2148 time = 888 88 24 14 781
channel two pre—+filter gain = 8
channel 1 post filter gain = 29 db
channel 2 pest filter gain =12 db
potential over load on channel 1file number = 2141 time = 8286 B 24 2¢ 7e1
potential over load on channel 1file number = 2142 time = 030 88 24 35 730
channel one pre-filter gain = 8 db shot number 2143 time = 888 80 24 44 780
channel two pre-filter gsain = @

channel 1 post filter gain = 12 db

channel 2 peost filter gain = 12 db

end of tape shot number = 2744 time = B8@8 @2 38 3& 5186 reel = o8

replace tape on uplt 1

start ree] 59 time = 880 82 38 44 518

water delay to 4.88B88088 seconds time = BE88 86 3& 44 818 shaot = 142%

I

channel one pre—=filter gain =8 db shot number @ time
channel two pre-filter gain = 8

Thannel 1t post filtter gain =12 db

channel 2 post filter gain = 12 db

start reel &8 time = @88 88 24 84 795

chanmel ons pre—filter gain = & db shet number 2 tims =
channel two pre—filter galn = 8

channel 1 post filter g&ain = 12 db

chanrnel 2 post filter gain = 12 db

start reel &1 time = B88 14 44 25 798 ~
channel! one pre—fllter gain = @8 db shot number &3 time = gge 14 S5& 45 776
A

~hearnal ks mro=fil Far A in
o -




] i o= o 4
channel 1 post +i11ter gain =
channel 2 post Filter gain =
channel one pre—+filter gain =
channe]l two pre—filter gain =
channel 1| post +ilter gain i
chanmel 2 post filter gain = 1

db
db
db shot number &4 time

I
N -Bo A

db
db

pa F

water delary to S.6088088 seconds time
water delay to 4.8068886 seconds time g28 22 29 48 8335
Water delay to S.HPEGEP cecondcs time 688 ZZ2 S8 3L 993
end of tape shot number = 2944 time = 888 ZZ2 57 27 §79
replace tape on unit A

start reel &2 time = 880 22 57 37 78

end of tape shot number = 2544 time = 881 87 88 Z& 994
replace tape on unit 1

start reel 42 time = G231 87 6B 4& 774

water delar to 4.080000 seconds time = BEl B8 33 44 228

end of tape shot number = 2744 time = @21 15 1% 35 BAY
replace tape on unit @

gtart reel £4 time = @21 15 19 45 BE7

potential over load on channel 2

Fi1Té number = 1243 time = 881 18 45 34 587

#88 21 81 85 218

end of tape shot number = 2744 time = B8l 23 30 44 A&7
peplace —tape o unit 1
start reel &5 time = 881 23 38 S& 8&7

14 56 S5 97é



